N & o & AF & H A A
A S2O0AIE 22 0
Iu: 2NL 2
Chel: EStAlE2tel (&)
SA - BB B () - MM - BES Ol &t o San HmEET
0l Al & 2tel ot 1,778,227 1,717,408 60,819
= 200,000
Al 1,578,227
EsAE 2 1,631,647 1,570,828 60,819
= 200,000
Al 1,431,647
oAl & 2t 1,631,647 1,570,828 60,819
= 200,000
Al 1,431,647
==z 29 640,701 796,128 N 165,427
101 @124l 25,606 18,143 7,463
04 JIZHHZ2XNSE+ 25,606 18,143 7,463
Ozlat A8 JI2ZH 22X 8 B 14,240
—Jl=s 39,6603 x1H »256 10,153
- =54 39,6603 x1H «x52 2,063
— ZHAY] 2,000 «1H 2562 23] 1,024
—s2xdl 50,0003 «1H 128 600
— ZE S| 200,000& x 1 x23] 400
OJIg 8 sHo XA o2
50,000 «10H »82] 4,000
OUSoHEXNAHMAFRY 57,2003 «4H +435| 2 1,831
OxZ=+ XY 62,4003 *4H x4 2 33| 2,996
O&OEM=&Y 82
39,6603 x4H x4 x4 3] 2,539
201 L2l 316,274 304,757 11,517
01 At 22l 85,929 84,522 1,407
Oget=&H| 77,767
—MglIsE+E 990& «110& *12& 1,307
—SEAE A2 FY(HEX S)
300,000 =12& 3,600
—HAEE P (Zd, Ay ol, 2EH S)
2,500 *5001 =128 1,500
— =234 FFF MNEH 60,000 122 720
—RoFHESRZ 365,000 12& 4,380
—2UHAIEE Z2EEIZ 500,000& x 13l 500
— &%) U =8 49,0003 «2CH =122 1,176
—HiO 2 === 17,0002 x26CH 128 5,304
—gs2eldidgs+2 (s 2)
750,000 128 9,000
—NotM =X (2Y3)E At
3,000& 650 m x23| 3,900
— 2= ZLuMEZH 9|
13,000, 0002 14 13,000
—JtAANE EBIIBA =2  300,000& *12] 300
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2N
: *2")\' = S%‘
el

X ZH
S =

SO0AI& 2t

ZotAIE 2tel

SN B SR(EA) - MBAY - BES il ot
—HlagEI| AZH (FR)
1,700 3004 *1CH 510
—ASESEXARH(ZR)
1,700& «2004 =1CH+12& 4,080
—EEZHANE =D ASH (FLR)
1,900& *200L*4 3] 1,520
—+2YNTAE ASH(HLR)
1,900& *200L*23] 760
OAl £ ZHlI S X HI 45,000
—d=2 ¥ JIAEE |XH
3,750,000 «12& 45,000
03 A2 S HI 22,380 31,490 A9,110
OJlesd 822 MH 15,280
— 80 M 110,000& 601 »83] 5,280
—ZAH A 1,000& *5000H «83! 4,000
—cl=a M 300& *2, 00001 x82 4,800
— B XA 30,0003 +50H »82 1,200
OJI=EA SE2=HH 2,950
— =N 110, 000& 40K x5! 2,200
—cl= N 300 *5000H x52] 750
O2sttzaat dS4E ATXHEM EEE X
= 2,950
—E==9 M 110, 000& »40H x53] 2,200
—cl=3 HMA 3002 *5000H x52] 750
OZgti=del &3 2EtHl  300,000& *43] 1,200
202 (44l 3,696 3,210 486
01 S LHOIYI 3,696 3,210 486
O2sAEAs & E2ES 220
264,000 2% x33] 1,584
Otz HIIE3 2 0lAE & 220l
264,000 2% *43] 2,112
206 T 2l 19,230 15,378 3,852
01 M= dl 19,230 15,378 3,852
FRACS ESHLYN=S
22,000 *20H »23] 880
O==22ecs =z 25,000& »50 % 1,250
Oor2oialEg 228 F¢ 100, 000 1Al 100
Oodg &3 25 o2F 7Y 60,0002 «20K 1,200
Oadg SHMZXI FL(HE) 10,0002 «10H 100
O43tdl 2g 30,000& =104 300
Oagt A F¢ 50,000& »20& 1,000
O=2stzsga 3¢ F8 NRE HO=Z
8,000& *300K 2,400




2N
X ZH -
L= B

el

M0 MO MO

Ol Al & 2t e It
ALE 29
t

3
StAl & 2el

SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
OS2tz 2 2HE 2UIIH 250 2¢
2 5,000& =20L*12& 1,200
O2stl=s & MIES(HEXMEDIIL 68)
150,000 x12& 1,800
O23tssl 2 MAZ HAE2E 2
3,000,000& 14! 3,000
O23llzz 2 2UHsH 85 2 6,000
—2HXEY ST Q 500,000 x12& 6,000
301 Lt A= 174,000 214,000 A 40,000
10 HAFAHI B A2 160,000 200,000 A 40,000
OJI&E & A 5,000,000& x4 3| 20,000
OJ18&2dA 140,000,000 = 14! 140,000
12 JIEtE2 A= 14,000 14,000 0
O2stWal ZAISE 100, 000 x6H BHx203] 12,000
OONelol etEL A
100,000 %201 Btx103] 2,000
401 Al HI L £ 0HHI 75,020 220,000 A 144,980
01 Al& B 75,020 220,000 A 144,980
OOIJE =4 22 5,000,000 x14! 5,000
Obfz=ZE=T WA 8,000,000& x14l 8,000
Ogla H2E Wi 40,000,000& = 14! 40,000
Ood . o8 2X) 84 WA 39,000 180K 7,020
OSHA (1A )H Hed| &R
5,000,000& x14! 5,000
O%x&1D 88 S B2 A
10,000, 000 =1 Al 10,000
405 XHAHFI S HI 26,875 20,640 6,235
01 AL 2 ZF S| 26,875 20,640 6,235
O23tlz=za& 2AHE 01013 AlAE B2 20,500
—2og 24Md0i013(HEE)
2,500,000 *3H 7,500
— 202 2401013 (8 ) 2,000,000 *34 6,000
— 2401013 §U4 2,500,000 *2J4 5,000
—S4& 01013 400,000 *5H4 2,000
O3 & HAEAIE L0013 2
375,000& x5J4 1,875
OAMIOILE At o X 2L 45,000 1004 4,500
ANOI2BHSHE 29 781,062 505,472 275,590
= 200,000
Al 581,062
101 Q121 H] 2,185 2,185 0
04 JI2ZtHIZ22NEE S 2,185 2,185 0




AN 20AE 22

g 2oAE 29

Chel: EStAlE2tel (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OAMUZsH=HdE Xd= HEHL A M
£ 57,2003 *3H 22 23| 687
OAMEEZsH=sdE 28+ HX U2
62,4003 *4H »32 23| 1,498
201 Let2dE] 554,005 473,869 80,136
01 At 2t 2l 113,422 83,862 29,560
Oger==gH| 106,954
—ANYZSHSHH RHH 92
250,000& 128 3,000
— s ZLEFEZH 9
13,000, 0003 * 1Al 13,000
—ANBRSHEHEH 283 A
3,000 *330m" 23| 1,980
—ANRESHSHAH W2AE A=H|
500, 000& =13 500
—ANYUZSHSHEH SHE A=
300, 000& *62] 1,800
—ANBESHMEHEH A ZIZAM =22
400,000& * 13l 400
—ANEEASHE 52 EIISBM =2
120,000 »3CH* 13l 360
—ANERHSHE 527 B30 ===
300,000 128 3,600
—ANRESHEHAH FEY 223
300,000 122 3,600
—ANRESHEHdH MYIIsF 2L
1,950 «50& =123 1,170
—ANYUZSHSHEH S24 A5 S|
15,000& »20CH 13l 300
—ANYZMSHH SHE AT & JHE
NI E 1,000,000& =13l 1,000
—ANBESHEHdH dIIANLEE A LA
& == 3,000,000& x13l 3,000
—ANYUZSHSHH LA TRUHE =2
750,000 12& 9,000
—ANYZSHSHEH 2SS
1,500, 000& »2H «12& 36,000
—ANYZHMSHH SEA HIO dE ===
17,000& x11CH+12& 2,244
—ANUSSHSHAH HSHE 20 FIIH A
131/34) 20,000,000& =13l 20,000
—ANUSSHMSHAH L2SHE 200 I H A
131/54) 6,000,000* 13| 6,000
O= &l 6,468
—ANEESHSUE 2HBAIFE S20124|
7,000 118 +72 «12& 6,468
02 =224l 440,583 390,007 50,576
03322 % HA 397,543




EX: S0 AL 22l
M 2IAE 29
CH2l: 23tAI - 22
(o
SN EHD B (3H) - MEAY - BAS ol &k o8 %@i
— AN2USSHSHAE EIASE
16,000,000 ~12& 192,000
— ANBI2SHESHE &0 22
10,000,000& 12& 120,000
— ANOESSHHE HE SHINSL 2=
2,500,000& *23| 5,000
~ NOISSHHSHE DERLLLD
4,000,000 «13] 4,000
—AN2SSH=SLHE 2ER2 711
! Bt 2202 x150H x12& 396
=Pl 1,750 1524 x12& 315
— ANCSSHESHE JIAZHEIA HABS =
100,000& *13] 100
— ANOSSHSHE Agotd2e &3
50,000 *13] 50
— AMBESSHSsAE &I|otM 22 3|
120,000& «13] 120
— ANBESHSHAEH H He IIsSE A= 75,562
et 674 x134m x6A| 2H*x90 48,771
Herz 4562 x108.8M *6A| 2F+90L 26,791
O 24| 1,040
— MdE HAEAI AZH(ES)
1,700 x500L* 13l 850
—HEH HEE2HHE =D Hd2H(ES)
1,900 *100L 190
OAl&E &8I KX Y| 42,000
— 22 2 J|AHEH KA
3,500,000& ~12& 42,000
202 044 2,112 2,088
01 2L I 2,112 2,088
O2StANEAs & 28 22 0]
264 ,000& 22 43| 2,112
206 M = dl 15,760 15,760
01 =4l 15,760 15,760
Ox==222 2 H =2 25,000& 40 1,000
=222 HEoll UM =<
22,000 x25% x2 3| 1,100
OBz 2USs ssSCIA3M(CD)
5,500 x 1004 550
OZ2¢2& 2401013 HAEXI(1.5V, 9V)
3,400 4000 +1,000& 200K 1,560
OZ2¢2 01013 HYH (H=EY)
3,200 15004 480
O2¢Z dAl2 EH 0l E 1,500 5004 750
OZ29& 01013 ¢ AllA 2EHM
190,000 x 102 1,900




A S2O0AIE 22 0
B 2AlL 29
Chel: EStAlE2tel CEERED)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OZ3¢d fFHxE &= 45,0003 =404 1,800
OUBIEIINEE RANESE IHM(EZHEZ S
) 50,000& 128 600
OUAZHE RUHEZY RLULU0EE #E
150,000 =104 1,500
O2d¢& 20 D28 o= 7,200& = 1004 720
O3¢E 2UIIAHE E XM 500,000 1Al 500
O3HE ZTOHA TN 160,000& x5 800
O3¢% 2Ux=Y 2tk ¢
160,000& x10E 1,600
O3d% REHXESII7 22221
20,000& 2074 400
O39Z 2UJIHE 2AHAH 500, 000& 1K 500
401 Al BIZ 201 8] 7,000 6,000 1,000
01 A& HI 7,000 6,000 1,000
OANR2SIMSHEH A23HE 2ZE B
7,000,000& » 14! 7,000
405 TtHatF S 200,000 5,570 194,430
= 200,000
01 AL EFSFHSHI 200,000 5,570 194,430
OZ2g& 240013 ZBHIME 2L
200,000,000& 14 200,000
< 200,000
SEZFsta 2l & 22 209,884 269,228 AB9,344
101 @124 dl 1,410 15,038 A 13,628
04 JIZtHNZ2HEE+ 1,410 15,038 A 13,628
o282 =M & &CI#I| AR
39,6603 x4H 63 952
OZ+ Aol &M AHMEE 22
57,2203 x2H 43| 458
201 Yete | 125,798 136,762 A 10,964
01 At 2t 2l 16,992 31,289 N 14,297
O e8| 14,458
— =SAMEX 20,0003 +52t A+ 12& 1,200
— SAI RRN22A(EURLY S)
350, 0003 «1CH*23] 700
— WAIZ2 |2 110, 000& 32 330
— 2 HsZLiIl EXNFY
403 *20,0000H 800
—SEd8 =FE MA 1,000& *300& *35! 900
—St=2Est2gs A3l 200,000& 12 200
—d=g2=2g3 Haldl 200,000& =13l 200
—XRIIESEH S& 7L
1,950 x30& «12& 702




AN 20AE 22

g 2oAE 29

Chel: EStAlE2tel (&)
SA - BB B () - MM - BES Ol &t o San HmEET
e B4 YA ADEY(ABAS
) 150,000& 128 1,800
—WAT MYB YNE HZ L 2|
100, 000& x5H * 12 500
—Jl0lES M 5,000& x300% 1,500
— 283 FAE9Z= 300,000 x23l 600
—FHAY S %A CEEY
1,850& *1,600& x 13| 2,960
—Hid 20 === 17,0003 »4CH 122 816
— &2 8 2= MA 300&+3,000% 900
— 282 SHIISX JISH M
70,000& 54 350
Oo=2d4d=+¢ 770
— =2 U2/ 70,0003 «13«11H 770
O= &l 1,764
A 22 Y AWDID S2OHAYI
7,000 «3H+7L «12& 1,764
02 2324l 68,806 65,473 3,333
O=323<LHA 64,006
—Zs2 HIes 3,500,000& x12& 42,000
S dot=E AIEE 40,0003 x12& 480
—LNERLRES 500,000& x13l 500
—EI3NERE=S 900, 000 »23] 1,800
—22ANE HHEZZ 250,000 12& 3,000
- 2HY INYLHSHLE
276,100 128 3,314
—dJ|erd el 700,000 122 8,400
— & s HE=
200,000& »1CH 123 2,400
—DIZOIR QIEY ABE
22,000 =30 122 792
— 2 EE2E €5 RERS
2203 *3,00000 1 23 1,320
OA& & Hl s Xl 4,800
—d2 ¥ FHl |XHl 400,000 x12& 4,800
03 & AL2 Z I 40,000 40,000 0
O=SZZs=EH dA2d 10,000, 000& 12/ 10,000
OzcHser 299 1,000,000& »203] 20,000
Ooogolssgna 1,000,000& *52 £t +23] 10,000
202 04l 1,584 1,536 48
01 2ot 1,584 1,536 48
OS2SMOILYE 2228 SXNEE 22 0|
264,000 x3H +23] 1,584
206 = Hl 3,792 4,292 A 500




2N

Ol Al & 2t e It
ALE 29
t

M0 MO MO

3N 23
Chel: EStAlE2tel CEERED)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 MHZ 8l 3,792 4,292 A 500
Ox==2clE8 MY 540
—Z2H 2 45,0003 x12& 540
O28 HE &s M=t 5,000& 200 23] 2,000
Ollss dXta o+FD| 35,200 =104 352
ogzd gx 3¢ 5,400& » 100K 540
O=stzal g2 ¢ 1,800& *200 K 360
301 gEtE L= 600 600 0
10 AtAHIE A3 600 600 0
Ozstat NE/ds &4 A 24
200,000 x3H 13 600
307 gl2tol & 76,000 89,000 A 13,000
04 RIZHHALE & 76,000 89,000 A 13,000
OSESSEH(AS 25tH)
29,000,000& =14 29,000
OSZAEEUS 2,000,000& » 14! 2,000
OHNbel SEL28ta AL 45,000,000& =13l 45,000
405 XtatE SHI 700 0 700
01 XA =S FH SHI 700 0 700
o=z 2MEMI 2L 700,000& = 1CH 700
HE2LAZH (20 AL ZEIARA) 146,580 146,580 0
QAU (20 AIEZ2IAIRA) 38,278 38,278 0
QlARHHI (20U AL 22IARA) 38,278 38,278 0
101 @124l 34,078 34,078 0
01 2= 34,078 34,078 0
Ooxzuz2=e+¢ 34,078
—52Z22E 60,853& x16H 35 34,078
203 YR =] 4,200 4,200 0
04 NI AL 4,200 4,200 0
OZ A& 2tel 350,000& »12& 4,200
Jl2ZHI (20 AIE22lALR2A) 108,302 108,302 0
JI2dE(S20AIE22IARA) 108,302 108,302 0
201 Let24dH] 62,222 62,222 0
01 At 22l 62,222 62,222 0
Ogt=+=&H| 8,122
—JIZ2 AR ESHI 100,000& »26H 2,600
— EAMJ RABLUL(EH S)
350,000& «1CH*32] 1,050
—Zegy, @A KX2el
237,000 »2H »32] 1,422
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AN 20AE 22
HH: HHE2ISLH (2UHAERIARA)
el D23 (S0 AIZ 22 AR L)

= _ — d =
SA - BB B () - MM - BES Ol &t o e
— SAJ =4&Hl 500,000 = 10H 500
—SAMSI 7Y 20,0003 « 10 A+ 128 2,400
—Jl2 E2E3H| 150, 000 * 104 & 150
ozdg=4¢ 54,100
—Y=Ag(32, 4H)
50,0003 «2H «481 48,100
— Y=L (2ER) 50,000 *1H 120 6,000
202 oddl 46,080 46,080
01 SLHOIYI 46,080 46,080
O=20AlIZ2te IR+ 22U
20,000 x24H «83| x12& 46,080




